

$2 - m_0$
 $A^2 = q^2 \sin^2 \theta + 10 \dots$
 $2\pi e \int dq \dots$
 $t = -\cos \theta \dots$
 $4\pi e \int dq \dots$

$q = i m_0$
 $\frac{1}{2} 4\pi e i \text{Im} \int_{-\infty}^{\infty} \frac{q e^{i q z} dz}{(1 + q^2/m_0^2)^2}$
 $= \frac{8\pi e}{2} e^{-m_0 z} = f(0) e^{-z/\alpha}$

$f(z) = \frac{1}{2} \lim_{z \rightarrow a} \frac{d}{dz} (z-a) f(z)$
 $\int_{-\infty}^{\infty} \frac{q e^{i q z} dz}{(1 + q^2/m^2)^2} = - \int_{-\infty}^{\infty} \frac{q e^{i q z} dz}{m^2 (1 + i q/m)^2 (1 - i q/m)^2}$
 $\ominus -2\pi i \lim_{q \rightarrow im} \frac{d}{dq} \left(\frac{q e^{i q z}}{(1 - i q/m)^2} \right) m^2 =$
 $= -2\pi i m^2 \lim_{q \rightarrow im} \left(\frac{e^{i q z}}{(1 - i q/m)^2} + \frac{q i z e^{i q z}}{(1 - i q/m)^3} + \frac{2 q e^{i q z}}{(1 - i q/m)^3} \right) =$
 $= -2\pi i m^2 \left(\frac{e^{-m z}}{4} - \frac{m z e^{-m z}}{4} - \frac{e^{-m z}}{4} \right) = i \frac{2\pi}{2} m^2 z e^{-m z}$
 $\frac{2\pi e}{2} m^2 e^{-m z} = f(0) e^{-m z}$



$q = p' - p$
 $M \rightarrow m_0$
 $\langle p' | J_\mu(x) | p \rangle = \bar{u}_{p'} \{ \gamma^\mu F_1(q^2) - \frac{F_2(q^2)}{2M} \epsilon^{\mu\nu\alpha\beta} q_\nu \} u_p$
 $= \bar{u}_{p'} \{ \gamma^\mu F_1(q^2) + 2M [F_2(q^2) - F_3(q^2)] \frac{p^\mu}{p^2} \} u_p$
 $\delta_0 (\delta_{\mu\nu} p^\mu - m) u^p = 0$
 $\delta_{\mu\nu} = \frac{i}{2} [\delta_\mu, \delta_\nu] = \frac{i}{2} (\delta_\mu \delta_\nu - \delta_\nu \delta_\mu)$
 $\delta_{\mu\nu} q^\nu = \frac{i}{2} [\delta_\mu \delta_\nu - \delta_\nu \delta_\mu] (p'^\nu - p^\nu) = \frac{i}{2} \delta_\mu \hat{p}' - \frac{i}{2} \delta_\mu m$
 $q^\nu = p'^\nu - p^\nu \left[\frac{i}{2} (\delta_\mu \hat{p}' - m \delta_\mu + p_\mu) - \frac{i}{2} (2g_{\mu\nu} - \delta_\mu \delta_\nu) (p'^\nu - p^\nu) \right]$
 $= \frac{i}{2} \delta_\mu \hat{p}' - \frac{i}{2} \delta_\mu m - \frac{i}{2} (m - \hat{p})$
 $\delta_\mu = \frac{i}{2} \hat{p} \delta_\mu = p^\nu (2g_{\mu\nu} - \delta_\mu \delta_\nu) = \frac{i}{2} (p_\mu - \delta_\mu m)$
 $\frac{i}{2} \delta_\mu \hat{p}' = \frac{i}{2} (2g_{\mu\nu} - \delta_\nu \delta_\mu) p'^\nu - i p_\mu - \frac{i}{2} \delta_\mu m$
 $\delta_{\mu\nu} q^\nu = \frac{1}{2} (p'_\mu + p_\mu - 2m \delta_\mu)$

$\delta^\mu F_\mu + 2M [F_2 - F_3] \frac{p^\mu}{p^2}$
 $\delta_\mu F_1(q^2) - \frac{F_2(q^2)}{2M} \epsilon^{\mu\nu\alpha\beta} q_\nu$
 $\delta_\mu F_1(q^2) - m F_2(q^2) \frac{p^\mu}{p^2} = \frac{p'_\mu + p_\mu - 2m \delta_\mu}{p^2}$
 $\delta_\mu (F_1 + F_2) + 2m \frac{p^\mu}{p^2} = \frac{p^\mu + \delta_\mu (F_1 + F_2)}{2(p^2 + q^2)}$
 $\bar{u}_{p'} \{ \gamma^\mu F_\mu(q^2) + 2M (F_2 - F_3) \frac{p^\mu}{p^2} \} u_p$
 $F_\mu = \delta_\mu + \delta_\nu \frac{q^\nu}{4m^2}$
 $F_\nu = F_1 + F_2 \frac{q^\nu}{4m^2}$

$p^2 = (p^\mu + p'^\mu)^2$
 $q^2 = 2m^2 + 2(p \cdot p')$
 $p^2 = p^2 + p'^2 + 2(p \cdot p')$
 $p^2 + q^2 = 4m^2$
 $p^2 = 4m^2 - q^2$
 $m^2 = \frac{p^2 + q^2}{4}$

$\bar{u}_{p'} \{ \gamma^\mu F_\mu(q^2) + 2M (F_2 - F_3) \frac{p^\mu}{p^2} \} u_p$
 $= \frac{2M F_2 (q^2 - 4m^2)}{4m^2} \frac{p^\mu}{p^2} \frac{p^\mu}{p^2} \frac{(-1)(p^\mu + p'^\mu)}{2M^2 - 2M^2 - q^2}$
 $\delta_{\mu\nu} q^\nu \langle p' | J_\mu(x) | p \rangle = \dots$



$$f(x) = e^{iP}.$$

$$\int \langle p' | j_\mu(x) | p \rangle dx e^{iqx}$$

$$= \int \langle p' | e^{i\hat{P}x} j_\mu(x) e^{-i\hat{P}x} | p \rangle dx e^{iqx}$$

$$\int dx e^{iqx} e^{ip'x - ipx}$$

$$\langle p' | j_\mu(x \rightarrow \infty) | p \rangle$$

$$j_\mu(q)$$

$$i q$$

$$j_\mu(q)$$

$$\langle p' | j_\mu(x) | p \rangle$$

$$F(0) = \infty$$

$$\langle p \rangle$$

$$F_e(0) = 1$$

